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Peterson p.529 AP Calculus AB 
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以下何者為 '( )y f x= 的圖形 
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(A) y=10x-8.05  (B)y=x-8.05  (C)y=x-3.05  (D)y=10x-11.5  (E)y=10x-3.05 
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比較 f(0) 、f(2)、 f(4) 、f(6)的大小 

 

(A)I only  (B)II only  (C)III only  (D)I and II  (E)II and III 

 
(A)-1.930  (B)-1.000  (C)0.511  (D)1.000  (E)1.419 

 

 

 
(A)35.00  (B)47.79  (C)50.00  (D)55.14  (E)68.01 
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(A)I only  (B)II only  (C)III only  (D)I and III  (E)II and III 

 

 

 

(A)-5.646  (B)0  (C)1.555  (D)2.813  (E)3.841 

 

 

 
(A)0.772  (B)2.815  (C)3.926  (D)5.552  (E)34.882 

 

 

 

(A)1.130  (B)2.724  (C)3.265  (D)16.875  (E)17.117 

 

 

 

(A)-9.004  (B)-4.732  (C)1.209  (D)1.277  (E)4.797 
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(A)a  (B)b  (C)c  (D)d  (E)無法決定 

 

 

 
(A)0.324  (B)0.499  (C)0.506  (D)0.611  (E)0.704 
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(A)14  (B)17  (C)20  (D)24  (E)27 

 

 

 
(A)f is continuous but not differentiable at x=a  

 

(C)f(a) is defined,but f(c) is not  (D) '( ) 0f b =  
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